

What is Generative Grammar
· Earlier approaches to syntactic description attempted to produce an accurate analysis of the sequence or arrangement of elements in the structure of a sentence.

- While this remains a major goal of syntactic description, more recent work in syntax, especially generative grammar, has taken a rather different approach in accounting for the sequence of elements within a sentence.

· Generative grammar: The dominant theory of syntax is due to Noam Chomsky and his followers, starting in the mid 1950s and continuing to this day. 
· 
· This theory has had many different names through its development (Transformational Grammar (TG),Transformational Generative Grammar, Standard Theory, Government and Binding Theory (GB), Principles and Parameters approach(P&P) and Minimalism (MP)).
· However, this theory is often given the blanket name Generative grammar. 

Generative Grammar
· A number of alternate theories of syntax have also branched off of this research program; these include Lexical Functional Grammar (LFG) and Head Driven Phrase Structure Grammar (HPSG). These are also considered part of generative grammar. 

· Definition: Through generative grammar, Chomsky attempted to produce a particular type of grammar with a very explicit system of rules specifying what combinations of basic elements would result in well-formed(correct)sentences.

· This explicit system of rules is similar to mathematical rules.
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Properties of GG include:
1- The ‘all and only’ criterion :
 
· The grammar will generate all the well-formed (correct) syntactic structures (e.g. sentences) of the language.
 
· The grammar will fail to generate any ill-formed (incorrect) structures.

· (in other words, ‘all’ the grammatical sentences and ‘only’ the grammatical sentences)
Some properties of GG 
Example: (A) 
- John met Richard yesterday.              (well-formed/acceptable to native speakers)
- Yesterday, John met Richard.	(well-formed)
- *Met John yesterday Richard.           (ill-formed/unacceptable to native speakers)
- * yesterday met John Richard.          (ill-formed)
	
(B) 
-     She went to America last week.  		(well-formed)
· Last week, she went to America . 		(well-formed)
· *Went she last to week America .  	(ill-formed)
· *America week went last to she.    	(ill-formed)
· Etc.

2- The grammar will have a finite (limited) number of rules, but will be capable of generating an infinite number of well-formed structures.
 
-Thus, the productivity of language (i.e. the creation of totally novel, yet grammatical, sentences) would be captured within the grammar. 

- Example (A): speakers can understand/produce a sentence like the following one, even if they have not seen a sentence like it before:

	- In 2006, a star suddenly became 600.000 times more luminous that our sun, temporarily making it the brightest star in our galaxy.

Example (B): through the rule that says that English is an SVO language (i.e. English sentences follow the order of subject + Verb + Object ), we can produce an infinite (unlimited) number of new sentences, as follows:


 -        John met Sam.
-        The boy ate the sandwich.
-         I like reading.
-        She bought a new house.
- 	     They sold their car last year.
·     He plays football every weekend.

That is, an endless number of novel, and grammatical, sentences
Some properties of GG 
3- Recursion criterion: the rules of this grammar will need the crucial property of recursion, that is, the capacity to be applied/repeated more than once in generating a structure.

Example:  (A) repeat prepositional phrase more than once:
		The phone was on the sofa.

 - Now, where was the sofa? Near the door. Okay, where was the door? in the hallway. This recursive effect can be put into a single sentence:

		The phone was on the sofa near the door in the 			hallway beside the …..


The same recursive rule applies to the prepositional phrases in the following:
 	- The gun was on the table.
		- The gun was on the table near the window.
	- The gun was on the table near the window in 		  	   the bedroom.

Example (B): Put sentences inside other sentences
		- Mary helped George
		- Cathy knew that Mary helped George.
		- John believed that Cathy knew that Mary helped George.



· The same recursive rule applies to the phrase ‘that hit the dog’ in the sentence: ‘this is the man that hit the dog’.


- We can create an endless series of other phrases and embed them into the previous sentence, as follows:
نفس قواعد التكرار مطبقة في العبارة ‘that hit the dog’ في الجملة: ‘this is the man that hit the dog’
ويمكننا تكوين عبارات حقيقية غير منتهية وادخالها في الجملة السابقة.
This is the man that hit the dog that bit the cat that chased the rat that ate the cheese that……
- thus, there is no end to the recursion which would provide ever-longer versions of this sentence, and the grammar must provide for this fact.
- Basically the grammar will have to capture the fact that a sentence can have another sentence inside it, or a phrase can have another phrase of the same type inside it.
وبالتالي لا يوجد نهاية للتكرار الذي من شانه ا توفير اصدارات من الجمل اطول من أي وقت مضى، و القواعد اللغوية يجب ان توفر لهذه العنصر.
في الاساس النحوي سوف تدرج حقيقة ان الجملة بامكانها ان تحتوي على جملة بداخلها، اوان العبارة يمكن ان تحتوي على عبارة اخرى.
- 4- Deep and surface structure: the grammar should also be capable of revealing the basis of two other phenomena:
التركيب السطحي والعميق Deep and surface structure : القواعد اللغوية يجب ان تكون قادرة على الظهور على اساس ظاهرتين اثتنين.
First: how some superficially distinct (different) sentences are closely related (similar in meaning):
الاولى: كيف ان بعض الجمل المتميزة ظاهريا مرتبطة ارتباطا وثيقا "متشابهة في المعنى"
Ex. Adam sold the house. (Active sentence)
The house was sold by Adam. (Passive sentence)
It was Adam who sold the house.
Adam was the one who sold the house.
- The difference between these two sentences is in their surface structure (the syntactic form they take as English sentences), that is, one is an active sentence and the other is a passive sentence.
- However, at some less ‘superficial’ level, the two sentences are very closely related, even identical, in the deep structure; i.e. meaning.
- So, the grammar must be capable of showing how a single deep structure can be represented by two different surface structures (e.g. active and passive structures)
الاختلاف بين الجملتين هو في التركيب الظاهري ) شكل بناء الجملة في اللغة الانجليزية( وبالتالي واحدة تعرف بالجملة النشطة "فعالة" والاخرى بالجملة
الغير فعالة.
على كل حال، في بعض المستويات الظاهرية، ترتبط الجملتين بشكل وثيق ، حتى انهما تكونان متطابقتان، في تركيب اعمق أي يحملان معنى واحد: وتعني –
لذا قواعد اللغة يجب ان تكون قادرة على اظهار كيفية ان التركيب العميق الواحد يمكن ان يمثل شكلين مختلفين من الجمل مركبة تركيبا سطحيا ويحملان
معنى واحد ) تراكيب جمل نشطة و غير نشطة (
- Second: how some superficially similar sentences are in fact distinct (structural ambiguity).
ثانيا: كيفية تماثل بعض الجمل بشكل سطحي "ظاهري" وحقيقتها المتميزة " التركيب الغامض"
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Example: Suppose we have two distinct deep structures (i.e. meanings) expressing:
1- Sara had a stick and she hit a man with it.
2- Sara hit a man and the man happened to have a stick.
- - Now, these two different concepts/meanings can be expressed in the same surface structure form, as follows: ‘Sara hit a man with a stick.’
This sentence is structurally ambiguous as it has two distinct deep structures (meanings/interpretations) which are expressed in a single surface structure.
- Thus, we can say that:
لنفترض اننا نملك تركيبين عميقين متميزين لتعبير عن المعنى في المثال: 1- Sara had a stick and she hit a man with it. و
2- Sara hit a man and the man happened to have a stick
والان، مثالين مختلفين في المفهوم والمعنى ،يمكن التعبير عنهما بجملة واحدة مركبة تركيبا سطحيا " الظاهري" مثل هذا المثال
Sara hit a man with a stick.’ في هذه الجملة شكل ظاهري واحد في معنيين مختلفين.
هذه الجملة هي غامضة "غير واضحة" التركيب حيث انها تمتلك تركيبين عميقين مميزين ) في المعنى/ والتفسير( الذي عبر عنه في تركيب واحد للجملة
السطحية " الظاهرية".
- Structural ambiguity occurs when two distinct deep structures representing two different concepts/ideas are expressed in the same surface structure form (i.e. the same sentence).
الغموض التركيبي للجملة: يحدث عندما يكون لدينا عبارة واحدة او جملة واحدة في شكل سطحي و تمتلك اكثر من معنى من التراكيب او التفسيرات الكامنة
"الغامضة" ]جملة واحدة[
- More examples on structural ambiguity:
(A) ‘One morning, I shot an elephant in my pyjamas.’
- Phrases, as well, can be structurally ambiguous:
المثال يوضح ان المتكلم يقول بانه اطلق النار على الفيل بالبجامة ، من الممكن ان نفهم بان الفيل في البجامة بينما المعنى الصحيح ان الصياد اطلق النار وهو
يلبس البجامة.
(B) ‘young boys and girls’: the deep structure can be
‘Young boys plus young girls’
OR
‘Young boys plus girls’
هذ المثال يحمل معنيان اما ان يكون ان الاولاد والبنات هم صغارا او يكون الاولاد هم الصغار فقط
- The grammar should be able to show such differences which lead to structural ambiguity.
قواعد اللغة ينبغي لها ان تكون قادرة على اظهار مثل هذه الاختلافات التي تؤدي الى التركيب الغامض


· We  can create an endless series of other phrases and embed them into the previous sentence, as follows:

		This is the man that hit the dog that bit the cat 		that chased the rat that ate the cheese that……
Some properties of GG 
· thus, there is no end to the recursion which would provide ever-longer versions of this sentence, and the grammar must provide for this fact.

· Basically the grammar will have to capture the fact that a sentence can have another  sentence inside it, or a phrase can have another phrase of the same type inside it. 

Some properties of GG 
4- Deep and surface structure: the grammar should also be capable of revealing the basis of two other phenomena:
 
First: how some superficially distinct (different) sentences are closely related (similar in meaning):

Ex. 	Adam sold the house.  		(active sentence)
      	The house was sold by Adam.	(passive sentence)
      	It was Adam who sold the house.
     	Adam was the one who sold the house.
Some properties of GG 
· The difference between these two sentences is in their surface structure (the syntactic form they take as English sentences), that is, one is an active sentence and the other is a passive  sentence.

· However, at some less ‘superficial’ level, the two sentences are very closely related, even identical, in the deep structure;  i.e. meaning.

· So, the grammar must be capable of showing how a single deep structure can be represented by two different surface structures (e.g. active and passive structures)
Some properties of GG 
 Second: how some superficially similar sentences are in fact distinct (structural ambiguity).

Example: Suppose we have two distinct deep structures (i.e. meanings) expressing: 

       	            1- Sara had a stick and she hit a man with it. 
      	            2- Sara hit a man and the man happened to have a stick.
 
- Now, these two different concepts/meanings can be  expressed in the same surface structure form, as follows:
       		‘Sara hit a man with a stick.’
Some properties of GG 
 - This sentence is structurally ambiguous as it has two distinct deep structures (meanings/interpretations) which are expressed in a single surface structure.

· Thus, we can say that:

- Structural ambiguity occurs when two distinct deep structures representing two different concepts/ideas are expressed in the same surface structure form (i.e. the same sentence).

- More examples on structural ambiguity:
           (A) ‘One morning, I shot an elephant in my pyjamas.’

· Phrases, as well, can be structurally ambiguous:
	(B) ‘young boys and girls’: the deep structure can be

        			‘young boys plus young girls’ 
				OR 
			‘young boys plus girls’

- The grammar should be able to show such differences which lead to structural ambiguity.
Exercises on structural ambiguity
In what ways are these expressions structurally ambiguous?
- We met an English history teacher
- Flying planes can be dangerous structurally ambiguous
- The parents of the bride and groom were waiting outside
- The students complained to everyone that they couldn’t understand.
- Visiting witches can be dangerous structurally ambiguous
- The boy saw the man with a telescope structurally ambiguous
- She loves ballet more than her friends__
.






